4.30
@) F(x)-F(2-%)=F(Ax+5)S(0)-F(2-0)=F(1-0+5) = £(0)-F(2)=£(5) (1)

F(x)-F(2-x) =F (x4 5) S £(2)-F(2-2) = £ (h-245) = £(2)-£(0) = £ (21 +5)
2
on
(1),(2):>f(5)=f(2x+5)f;15=2k+5:>2k=0:

B) Agod givar k= 0n oxéon f(x)-f(2—x)=Ff (Ax+5) yiveto
f(x)-f(2-x)=F (5)
Enopévag
f(x)-f(2—x)=f(5)§f(5)~f(2—5)=f(5):f(5)-f(—3)=f(5) ()
@ amodeitovpe 61t f(5) =0
Mpéypoatt éoto f(5)=0. Tote
F(x)-F(2-x) = (5) = F (x)-F (2—x) =0=F (0)-f (2-0) =0 =
—=£(0)-f(2)=0=>F(0)=0 # £(2)=0=£(0)=F(5) 0 £(2)=£(5)
dromo St f givon 1-1
Apa f(5)#0 emopévag

f(5)20

(3) = £48)-f(-3)=1458] =|f(-3)=1




